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Exercise 1A_Jay W

(. Count and write the numbers from 1 to 10.

k@]l!l]l |||({
o® (2](2]2)29 9_22
....B\BJ.SUSJJB 3’1




3. Count the fruits in each row and match with the correct number and
has been done for you.

number name, Opne
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i fingers. Cirele the correct number. Write gh i
amber of boxes in the ten-frame, Oy, has bee,, N
Number  Number name i

« Connt |
colour that 1
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Read the numln.r M each balloon and colour the balloons as asked.

= velow - PR - 3=pink - (I - EELTA -
o = Purple RS Oftinge

-DEE - e - 10 = White *

E;clm Work )
1. How many noses do you have? eﬁ&

W One),

2. How many legs does a table have? Gt) :é_Gﬁ_m_j//
e ght)

3. How many arms does an octopus have? S ¢

THE NUMBER ZERO

ﬁrchana has She gives one pencil each to  Now, Archana is left wi.th
5 pencils 5 children in her class. no pencil or zero pencil.

" Thus. zero means absence of something or simply nothing. We represent

the number zero by 0- @ﬁ:
P

. .
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A line with numbers placed in order is called 3 Nump,
garting point (number) of the number line shown helnwr ing T

hows numbers from 0 to 10, 18 ﬁn;Lu
- & @ 9 O — @ \
() I 2 3 4 5 6 7 8
As we move from left to right on the number line, the g I
E£rs hf "
{5

bigger. Numbers to the left of a given number are smaller. \
the right of a given number are bigger. S

mbﬂ'._

Fill in the boxes for the following number lines,

COUNTING BACK | /

Read the numbers from 10 to 1. I
s = [
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3.

n number in each of the fﬁuﬂw

. e [E @ (q)
» o st after the given number in each oLEE ““w"llr

5 'i (E]k'ﬁ ! L lﬂ f’» 3.

/ 2, 8
Wnte th : uillher bemeem munbe
@2@ ® ‘("’ o @ ) @) .(5‘

Fill in the blanks. d |
(a) 7 is between @ a @ (b) 1 is between @

is just before @
(c) 8 is just after / (d) 2 is just be /

Write all the numbers between:
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tOMPARING NUMBERS

Mﬂﬂ:, LESS and E(I“Hl
1. TICk ('i‘f) the set thﬂt ha,s more 2. Tick ( '/) the set that has
objects- - less objects.

...._-—'_'_-_.-'_--
|

et | see|| weee A
& | | 88 || weee A

O Vi
| mg same number of objects?

3. Do the following sets
Tick (v') Yes or No.

> >
Rad

)

G Scanned with OKEN Scanner



_— e

j, Write the correct symbol =, 5 or < (o make each sentence true. One hﬂs
beent dune for you.

|

[ 4 -I.,

, g Wz 4 .:- 4 ) f. 3 )
‘2. Fill in the blzn](’sés with the correct sign =, > nr(?f/
ORE OB O
e | 7 i [} ) |

S —
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e NCREASING AND DECREASING ORDERS

Increasing Order
Numbers in increasing order means arranging them from ¢,
¢

to the greatest.

iy

0,1,2,3,4,5,6,7, 8, 9, 10 are in increasing prge

- - - . . - - [ R TRl ol - - . - .‘.~
i oy gy

Decreasing Order

Numbers in decreasing order means arranging them from
to the smallest.

110,9,8,7,6,5,4,3,2, 1, 0 are in decreasing order:

ﬂIE ngiJ

-
T e e 00 e e e B T T - Sl BN TR

Gy

© SH%75%25< —s @}fi} {’f}{’é}f?*
2. Write in decreasing order. ﬁ o

(@) )25 81,466 —u @
b) )% 4£7#x84{ —. @ @
, 016

& Scanned with OKEN Scanner



NOWING ORDINALS

umbers that tell the position of something are called ordinal numbers
¢ simply ordinals.

ook at the scene of car racing. The red car is first (1st), the green cal
second (2nd) and the black car is third (3rd) and so on.

—

! class Work )
il in the correct word. 1 - !l‘&ﬂk] Ninth
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_ Mo,
1. Match the letters of the alphabet to their ordinals, A the E
is the second letter and so on. One has been done for you, fir ]"%

1'1 .y i
LM ﬂ,_.rl: . | ¥ N :‘ ] 1 f.--b'l.

4

" (ﬁ [ Fourh )
EEEX

EXXY

85 challenge! ) §z1cs orcc

There are 8 planets that move around the Sun in our Solar System. Earth is th¢

third planet from the Sun and Saturn is the sixth planet from the Sun. How man
planets are there between the Earth and Saturn? "~ =

il

#®( 20 - e
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ADDITION WITHIN TEN

ﬂ_ddl’[lﬂﬂ means combining or joining things.
There are 3 boys playing ball.

There are 4 girls jumping rope.

How many children are playing in all?

We can represent 3 boys and 4 girls as:

®B® ©Q©O©

Counting together, we have 7 children in all.
In short, we write this as: (3 +4= ',?) and read as

T W i W T, Vo ¥

( 3 plus 4 equals ?) or Qand-i are seve@ Note: ‘+ is the sign of I

addition and 3 + 4 =7

15 an addition fact.

e S

et

Example: There are 6 red flags and there are 2 blue flags. How many
flags are there altogether?

Solution: Pictorially this can be represented as:

(4RSS R e
idde ddde

—_— — = e —— v ™
T — = =

There are 8 flags in all.
& Class Work )
-.1., | . 1. . .
4 @
o ® a
How many dots altogether? How many dots altogether?
i ! 5

s RO
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@ o 1)
How many dots altogether? How many d i51
g - g O aloggps

5. Cnlmt‘{nfi complete the addition fact. f

VERTICAL ADDITION

Count and add. One has been done for you,

LLE

+ 2

5
ﬁ g 3 plus 2 equals 5.

3 and 2 are 5.

g A
¥ 5 e

o_

ﬁ ﬁﬁplus4equﬁ_r
i i 6 and 4 are l-_'-’-

L*@sh e ‘_ =
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Lclus Work )
Count the objects and complete the addition facts.

‘00 0 ‘ea oo
00 0 & ¥

4+2=DI3+5=LEJ/

mw /R

i~

e
ﬁfw PRI XXOR

e

f‘__._au___!




The sum of zero and any other number is that number itself.

£ class Work])
1. 3+ﬂ=2 o
l_..f‘"'f! 2. 0‘+7=?’
O o
B A B 4. 0+4=4&
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P ke = I._Ln—_l [.] 1 + 9 =
e i ,__...f’- [ LAY
'J

Add vertically. One has been done for you.
@ I ] © R
34 ”“_ | N Rt
8

r—

[d}‘ =5. e
i+ 2 e

?/

(EJ r ; i

+ 4 ol . + € P
L __ﬂ___ __?—— /] |
Look ané;; and fill in The blanks with the correct numbers. Also,
ition facts. — S
complete the addition T
(a) There are H red umbrellas. T T T T T T

There are —=— yellow umbrellas. .
+ =

b
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(b) There are ~Lf‘;h__ b
€5,

There are s
dirs,

Thereare &

o
a[tngetheiﬁ Ecesﬂfﬁ"hih

(¢) Jack and Jill went
up the hill,
Kathy and Lucy
join them,

Sy

(d) Tony gives 3 toy cars to his
brother. He has 4 toy cars left.

How many toy cars did he have
at first?

1. The sign for addition is JL_L/_/

2. How many do five and two make?

3. What number is six more than three?

4, What number is 8 more than 27

5 What is 4 + 07

xzﬁsu

%/
&)
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sUBTRACTION WITHIN TEN

Sut'tr‘":tiﬂn means taking away.,

Qbserve the ﬁnilnwing. “, %
g little birds were sitting on a tree. .ﬂ‘ |

5 flew away. How many birds were left &

on the tree? %
Sounting the remaining birds on the
wee, we see that 3 birds are left on the tree.
a short, we write this as: .

E—5=D and read as(ﬁ minus 5 is equal t039+++++| | l

raw 8 lines to represent 8 birds. Cross out
lines to represent the birds that flew away.

ow many remain?
 vertical notation, we can write
e above fact as :

L Class Work '
ook, read and fill in the blanks.

2 &. ' '@‘., cr;ffﬁ 6 _
-:_J'::__Q | yi- QJ I

- f
R

balloons 3 flew away How many are left?

All jumped out How many puppies are
: left in the basket?

puppies in
asket,

Dl
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